<u>Linear Algebra</u> I

Fall 2023

General description of the Gram-Schmidtalg. Given: Basis B= (b1,..., bm) of U. Want construct ONB F=(fi,...,fm). Step 1: Set  $f_1 = \hat{b}_1 = \frac{1}{\|b_1\|} b_1$ .  $U_1 = \text{span} \{f_1\} = \text{span} \{b_1\},$ Stepl: Have ON  $(f_1, \dots, f_{0-1})$ ,  $\mathcal{U}_{e_1} = \text{span} f_1, \dots, f_{e_1}$ ZEREM = span { b, ..., be g.  $(i.e. b_{g} \notin U_{g-1})$ We can write  $b_{\ell} = (b_{\ell})_{\parallel} + (b_{\ell})_{\perp}$  $\mathcal{N}_{\varrho_{-1}}$   $\mathcal{N}_{\varrho_{-1}}$ Set  $W_{g} = (b_{g})_{\perp} = b_{g} - (b_{g} \cdot f_{i})f_{i} - \dots - (b_{g} \cdot f_{p_{-}})f_{p_{-}}$  $f_0 = \widehat{W}_{\ell} = \frac{1}{\|W_{\ell}\|} W_{\ell}.$ =)  $(f_{1}, f_{\ell}) ON$ ,  $U_{\ell} = span \{f_{1}, \dots, f_{\ell}\}$ = span {b\_1,..., b\_-, fog = span { b .... b.g.

After m steps 
$$U_m = \text{Span} \{f_1, \dots, f_m\}$$
  
=  $\text{Span} \{b_1, \dots, b_m\} = U$ .  
=)  $T = (f_1, \dots, f_m)$  ONB of U.

Theorem 12.8 Every subspace has an ONB. Proof: Every subspace has a basis (Thm. 10.4). Using GSA we get an ONB. 11

<u>Corollary 12.9</u> Let UC IR be a subspace. For all  $x \in \mathbb{R}^n$  there exist unique  $X_u \in U$  and  $X_\perp \in U^\perp$  with

$$X = X_{\parallel} + X_{\perp}.$$

Proof: Existence: By Thm. 12.6 there exists an ONB (fing fm) of U. And by Lemma 12.5 We get XII and XI.

Uniquenent: Let  $X = X_{11} + X_{\perp} = Y_{11} + Y_{\perp}$  for  $X_{11}, Y_{1} \in U$  $\implies U \ni X_{11} - Y_{11} = X_{\perp} - Y_{\perp} \in U^{\perp}$   $\xrightarrow{X_{\perp}, Y_{\perp} \in U^{\perp}}$ 

$$\Rightarrow X_{11} - Y_{11} = X_{1} - Y_{1} = 0 \Rightarrow X_{1} = Y_{11} \text{ and } X_{1} = Y_{1}$$
Lemma 12.5
$$\frac{S 13 \text{ Orthogonal projection & Least squares}}{S 13 \text{ Orthogonal projection & Least squares}}$$
Motivation: Assume you measure some data
$$(X_{i_{1}}, Y_{i_{1}}, \dots, (X_{m_{1}}, Y_{m}))$$
and you want to find
a line which interpolates
there points in the best
possible way.
If all points would lie on a line  $l(x) = ax + b$ 
then they would satisfy
$$aX_{1} + b = Y_{1}$$

$$aX_{2} + b = Y_{2}$$

$$= A({}^{\circ}_{b}) = Y. (*)$$
But if they are not on one line (like in

the picture), then the linear system (x) has no solutions because  $Y \notin im(A)$ .

But in the picture we see that there might be a "best possible" line.

Proposition 13.2 Let UC R' be a subspace  
i) Pu is a linear map.  
ii) 
$$P_u^2 = P_u$$
.  
iii)  $ker(P_u) = U^{\perp}$  and  $im(P_u) = U$ .  
iv) If  $(f_{1,...,f_m})$  is an ONB of U then  
 $P_u(x) = (x \cdot f_i)f_i + ... + (x \cdot f_m)f_m$   
for all  $x \in \mathbb{R}^n$ .  
Proof: iv) is exactly Lemma 12.5 iv).  
i), ii), iii) are direct convequences of iv). (check!).  
 $thermod P.S = D$   
Proposition 13.3 Let UC/R' be a subspace and  $x \in \mathbb{R}^n$ .  
Then faral  $u \in U$  we have  
 $\| x - P_u(x) \| \le \|x - u\|$ .  
We just have "=" in the care  $u = P_u(x)$ .

In other words: If x is outside of U, then Pulxellis the closest point to x which is in U.





Definition 13.4 The transpore of a matrix  $A=(a_{ij}) \in \mathbb{R}^{m^{m}}$ is the matrix  $A^{T}=(a_{ji}) \in \mathbb{R}^{h \times m}$ .

Example: 
$$A = \begin{pmatrix} 1 & 2 & 3 \\ 4 & 5 & 6 \end{pmatrix} \in \mathbb{R}^{2 \times 3}$$
$$\overline{A^{T}} = \begin{pmatrix} 1 & 4 \\ 2 & 5 \\ 3 & 6 \end{pmatrix} \in \mathbb{R}^{3 \times 2}.$$

 $\frac{\operatorname{Proposition} | 3.5 \quad \text{i}}{\operatorname{For} A, B \in \mathbb{R}^{m \times n} \text{ and } \lambda \in |\mathbb{R} \text{ we have}} \\ (A+B)^{\top} = A^{\top} + B^{\top} , \quad (\lambda A)^{\top} = \lambda A^{\top} . \\ \text{ii} \quad \text{For} A \in \mathbb{R}^{n \times n} \text{ and } B \in \mathbb{R}^{n \times e} \text{ we have} \\ (AB)^{\top} = B^{\top} A^{\top} \in \mathbb{R}^{e \times m} \\ \text{iii} \quad \text{For} x, y \in \mathbb{R}^{n} \text{ we have } x \cdot y = x^{\top} y . \end{cases}$ 

Proof: Can be checked by direct calculation.   
For 
$$A \in \mathbb{R}^{n \times n}$$
 we can define a linear map  $F: X \rightarrow A \times$ .  
We write  $im(A) := Ker(F)$  and  $Ker(A) := Ker(F)$ .  
As mentioned in the motivation at the beginning, we  
are interested in projecting onto the image of A. For this  
we will first try to understand its orthogonal complement.  
Proposition 13.6 For all  $A \in \mathbb{R}^{n \times n}$  we have  
 $im(A)^{\perp} = Ker(A^{\top})$ .  
Proof: Let  $X \in \mathbb{R}^{n}$ . Then we have  
 $X \in (imA)^{\perp} \iff Y \cdot X = 0$   $\forall Y \in \mathbb{R}^{n}$   
 $for forme \\ V \in \mathbb{R}^{n}$   

Covollary 13.7 Let 
$$A \in \mathbb{R}^{m \times n}$$
.  
i) We have  $Ker(A^{T}A) = Ker(A)$ .  
ii) The following statements are equivalent  
 $Ker(A) = \{0\} \iff A^{T}A \in \mathbb{R}^{m \times n}$  is invertible.  
Proof: i) We have  $ein(A)$  from 13.6  
 $X \in Ker(A^{T}A) \iff A^{T}A \times = 0 \iff A \times \in Ker(A^{T}) \stackrel{\downarrow}{=} im(A)^{\perp}$   
 $\iff A \times \in im(A) \cap im(A)^{\perp} = \{0\}$   
 $\iff A \times \in im(A) \cap im(A)^{\perp} = \{0\}$   
 $\iff A \times \in Ker(A)$ .  
ii)  $Ker(A) = \{0\} \iff Ker(A^{T}A) = \{0\}$   
 $Thm. 8.7 \iff A^{T}A$  is invertible  $\Box$   
 $A^{T}A \in \mathbb{R}^{m \times m}$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A$  is invertible  $\Box$   
 $A^{T}A \in \mathbb{R}^{m \times m}$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   $\Box$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   $\Box$   
 $A^{T}A \in \mathbb{R}^{m \times m}$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   $\Box$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   $\Box$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   $\Box$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   $\Box$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   $\Box$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   $\Box$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   $\Box$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times is invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A \times invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A + invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A + invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A + invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A + invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A + invertible$   
 $Ker(A^{T}A) = \{0\} \implies X \mapsto A^{T}A + invertible$ 

We can now use our results to answer the question in the motivation.

Least squares method

Problem: Given a linear map  $F:\mathbb{R}^n \longrightarrow \mathbb{R}^m$  and  $b \in \mathbb{R}^n$ . Find  $x \in \mathbb{R}^n$  that minimizes S = ||F(x) - b||.

"Least squares" because if 
$$F(x) = \begin{pmatrix} y_i \\ \vdots \\ y_m \end{pmatrix}$$
,  $b = \begin{pmatrix} b_i \\ \vdots \\ b_m \end{pmatrix}$ ,  
then  $\|F(x) - b\| = \sqrt{(y_i - b_i)^2 + \dots + (y_m - b_m)^2}$   
We want to minimize the sum of squares  
of the differences  $y_i - b_i$ .

Notice: Minimal S is  $O \iff b \in im(F)$ , i.e. F(x) = b has a solution.

By Proposition 13.3 the minimal S is given in the case  $F(x) = P_{im(F)}(b)$ .  $\int_{F(x)=Ax}^{b} \int_{u}^{S} \int_{u}^{u} \int_{F(x)=Ax}^{u} \int_{F(x)=Ax$ 

Write 
$$[F] = A$$
, then we want to find xelR<sup>1</sup>  
such that  $Ax = P_{im(F)}(b)$   
 $\implies Ax - b \in (imA)^{T} = Ker(A^{T})$   
 $(=) A^{T}(Ax - b) = O$   
 $(=) A^{T}Ax = A^{T}b$   
Normal equation.  
Therefore if  $Ker(A) = \{03\}$  (i.e. the columns of  
A are lin. indep.)  
then (by Corollary 13.7)  
A<sup>T</sup>A is invertible and we get the  
unique solution to our problem by  
 $X = (A^{T}A)^{T}A^{T}b$ .



We want to find 
$$x \in \mathbb{R}^{3}$$
 such that  $\|Ax-b\|$   
with  $b = \begin{pmatrix} 2 \\ 1 \\ 2 \\ 1 \\ 2 \end{pmatrix}$  is minimal.  
  
We need to solve the normal equation  
 $A^{T}Ax = A^{T}b$   
 $A^{T} = \begin{pmatrix} 1 & 1 & 1 \\ 0 & 1 & 2 \\ 0 & 1 & 4 \end{pmatrix}$ ,  $A^{T}A = \begin{pmatrix} 1 & 1 & 1 \\ 0 & 1 & 2 \\ 0 & 1 & 4 \end{pmatrix} = \begin{pmatrix} 1 & 1 & 1 \\ 0 & 1 & 2 \\ 1 & 2 & 3 \\ 1 & 3 & 4 \end{pmatrix} = \begin{pmatrix} 1 & 1 & 1 & 1 \\ 0 & 1 & 2 & 3 \\ 1 & 3 & 6 & 4 \end{pmatrix}$   
 $A^{T}b = \begin{pmatrix} 1 & 1 & 1 & 1 \\ 0 & 1 & 2 & 3 \\ 0 & 1 & 4 & 9 \end{pmatrix} \begin{pmatrix} 2 \\ 1 \\ 2 \\ 3 \end{pmatrix} = \begin{pmatrix} 8 \\ 14 \\ 36 \end{pmatrix}$   
=) Want to solve  
 $\begin{pmatrix} 4 & 6 & 1 & 4 \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4 & 3 & 6 & 4) \\ (4$ 



If you read this then you finished reading all the content for Linear algebra 1. Congratulations! C Hope to see you in LAIT!